BODMAS 6

First, work out the following caleulations without the ecaleulator.
Second, work out the answer on a calculator.
Third, check if you are correct.
Remember, the calculator always does calculations using BIDMAS.

Calculator’s Were you

Calculation Your answer
answer correct?

T+2x3

8+18+2

6-4x5

10-2+5x 11

Txd+3x10

36 + 2%

25+ (12-4x2)

-7+5x%x6

2-32+8

0.5+01x4

4 x 5°

(3%-1)

50-(10+10+5)

(12-48 +12)2

100-2 (14 +26)

Extension
Work out 3 x 3

Work out -3x-3
Use your calculator to work out -37

Is the calculator wrong?
Explain your answer.
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